i T3E&L=100m

T E M

% e i A R

SRR RELR (JE T, 15cm,
HREETR 1

B ) L=200m

-
~

R6K: RiBRRIL

I®4& % - Al RERTE
BREs | () emEERL

TG | ERBLREING

@4 | TEm

® R = BEES ‘ 1/4
sua

BRESA

BEERFNLERRRRL BRI <ER>



IE | $=1/1000
FEEHBMER O

BIER L=250m
SV BI%R (3248, 150cm, B £&) L=395m
rh o (BEHR, 15cm, B)L=125.0m(25 x 5m)

R6K: RiERRI

T4 £ - Anft KERTE
BRES | (DraEmRl

THEET | EHBEHAARL

@4 | TEE

W R x| EmE% ‘ 2/4
244

BRESA

BEERFNLERRRRL BRI <ER>



IE | $=1/1000

7K‘@
FEAEHRBMER @ R

otk L7215 w=12

T IERL=210m
SMBI%R (3248, 15cm, B€8) L=420m
g £ (BE#R, 15cm, BE) L=105m(21 x 5. Om)

e T3E&L=120m

FEAEBAMER O

SVMEIS (248, 150m, B4) L=14Em
4R (AR, 15cm, Bf) L=60m(12 x 5. 0m)

R6K: RiERRI

T4 £ - Anft KERTE
BRES | (DraEmRl

THEET | EHBEHAARL

@4 | TEE

W R x| EmE% ‘ 3/4
244

BRESA

BEERFNLERRRRL BRI <ER>



Ir M| $=1/1000

EE1935

M THE R L=230m

SRR ER (FEY T, 15om, HE) L=460m
HR SRR (BRER, 15cm, ) L=115.0m(23 x 5m)

CBREAER 7 &

Xf9

R6K: RiBRRIL

TEH % - Al RERTE
BREE | (D emEERL

TEET | ERBLREING

@4 | TEE

% R B = BEES ‘ 4/4

s a

ERES

BEERFNLERRRRL BRI <ER>



